In(1]:= (*2$3§ﬁ0)ﬁ“ﬁ§§+§*)
nzi= (*Mathematica DIEAERDSIHMDEZ N FayDAERHTVD+)
na= (*EllipticK[p#p]]1<-->E[p] (Fay)EFTNIFLLV. F, Mathematica DIEMAESDEIHIL,

FzeAIE, EllipticF [phi,p2] EBOTWBCEISERE (BAEDLKLET, p2hihe) )

n4= Clear["Global™ +"];

L = 150;
k=Sqrt[5/ (30 %1076 %2.5%0.25°3/12)];

fn=L-1/k#* (EllipticK[p » p] - E1lipticF[ArcSin[0.707 / (p)], P * P])

0.707

ou7- 150 - 139.754 [—EllipticF {Ar‘csin [ } B pz] + Elliptick [p?]

p

ne= (»4Bp DFTEFIBEERS )

nor= Do[Print[p, " , ", fn], {p, 0.1, 1, 0.1}]

0.1 , 150. -392.4651
0.2 , 150. -294.961 1
0.3 , 150. - 236.068 1
0.4 , 150. -191.057 1
0.5 , 150. -150.649 1
0.6 , 150. - 106.816 1
0.7 , 150. -27.742 1
0.8 , 43.071

0.9 , -26.4676

1. , ComplexInfinity

npop= (*#<fLED, p B, 8FHEICHRNEFEETS. XlE, FindRootlcLBKIR +)
ni11= pans = FindRoot [fn == @, {p, ©.8}1[[1]1]1[[2]]
out11]= ©.864977

nzr= (*<Op2B AT (2. 23) IDLERHD )
nia= (*h=2p/k DFFE )

n4= h = 2 %« pans / k
outf14]= 241.768

ns:= phiB = ArcSin[0.707 / pans]

outf151= 0.956818

In[16]:= (*(in'Eﬁn“ﬁKEFEDJ}*)



2 | cp2-3Example.nb

ni171= Delta = L - h * Cos [phiB]

out171= 10.7115

nep= (*lEDFEIREBEZDH «)

nop= sdelta =1/ k* (2% EllipticE[phiB, pans % pans] -
EllipticF[phiB, pans x pans] - 2 x E11lipticE [pans * pans] + E1lipticK[pans x pans])

outj19]= 50.6798



